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The Nature of Business Economie

| Business Economics iSa S

3 Interdisciplinary in Nature

According to Hawirey trade cycle is
L] u .

| monetany Phenomenon

% fiscal Phenomenon

Which of the following statement is

cost function

1 TC = TVC-TFC
sTC=TFC-T¥C

The opportunity cost of a good is :
| Joss of interest in using savings

3.quality of other goods sacrificed
to get another unit of that good.

The concept of price rigidity in Sweezy”
Loligopoly market . B

jmonopoly market

Lseller should have some control

—'

e} (d)

3seller should be able to divide his
market inlo two or more 4
submarke

The shape of TR curve of the
(2) (b)

14 shapeqg

over the supply of the Product(b) e : ? .5 in difhires



rape cosl (LAC)is ¢

pong M co
| g shaped Ziis also called envelope curve

hothaand b 4.nonc of these

e producer’s demand for a factor of production is governed by the ___ of that factor, €03
| price(d) () D) 2.marginal productivity

3 gvailability 4 profitability

when the output increases from 20 to 30 units and TR increases from Rs 400 to Rs 500 then CO3

WK 18 e —

1. 2“"
. 15 4.none of these

rhe producer reduces supply from 100 units 1o S0 units, Whm’llwpricc falls from Rs 2010 COY
e 10, the price elasticity of supply will be :

p i
4.none of these

¢ marginal utility from last unit consumed of commodity Y = 50 Units and MUm = 10. €03
e consumer s in equilibrium and consuming commodity y only, Find the Price of

Commaodity Y
2.10
4.None of these
which of the following concern is related to business and commercial knowledge? Co4
| Sustainability 2 Sociology
1 Traditional 4.50cial at large
Foreign Exchange Management Act (FEMA), would fall under which of the following type COJ
of Public Policy?
I Restrictive 2 Regulatory
1 Facilitating 4. Advisory
Reforms in Dowry Act and Divorce Act are the examples of. CO4
| Economic Reforms 2.Cultural Reforms
3. Commercial Reforms | 4.Socio-cultural Reforms
Which of the following is not true about a Limited Liability Partnership (LLP)? Co4
| Separate Legal Entity 2.Incorporation not mandatory like

normal partnership

3.Designated Partners 4,Hybrid Form of Business
Organisation

name. Which of the following does use of foreign brand name relate to?
1.Globalisation 2 Privatisation

3 Liberalisation 4, Autonomy of Economy

Foreign brands were welcomed in India and were also allowed 1o use their foreign brand CO35

—isthe measure of return on investments in terms of percentage. COS5
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Arswer ALL Questions

 the -r;umm*mu-ﬂlmyumum
he exceptions 10 the Law of Demand

1OR)
: !nzmwwﬁadnﬁﬂhmhsm
t down the features of labor

sh between I.lndlndm

IOR]
the hpe of market strocture

n the features of Business Cycle.

IOR]
he role of Business Cycles in Business Decision Making

¢ classification of Business objectives

sursh between Profession and Emplovment.

10OR]
A rite 2 short note as “Gabriel Almond’s theory.
Write a short note about “‘NABARD"

[OR]

=) Who are bulls and beais m stock markets?

SECTION - C (5 * 10 = 50 Marks)
Answer ALL Questions
borate on “Ordinal Approach®
IOR}
Elasticity of Supply can be of any value between zero and infinity™ — Describe with
diagrammatic representation.
Classify the Enterprises Objectives

|OR]
Llucidate briefly the behavior of Total Product, Average product and Marginal product in
Law of Variable Proportions.
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Enumerate the challenges faced by

Indian Economy with regard to consumption during the CO3
period of 20212

|OR]
Elucidate the role played by

Determine the features of economic Activities In

Business
|OR|
Elaborate on PESTLE Analysis
Explain the features of public policy
|OR]

Elaborate the role of 1FCI

SEBARNNERRRE S

the LIC 10 its investors with regard to COVID-19 pandemic.
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Section - A

Answer ALL the Ouvestinng
- hod of presentation of datais

{al Textual [b] Tabular
[c] Diagrammatic [d] (b) and (c)

For 8 moderately skewed distribution, which of the following re lations hip
pokds?

(2] Mean— Mode = 3 (Mecan-Median)

(v Median-Mode=3(Mean-Median)

lc] Mean - Medin = 3 (Mean - Mode)

[ Mean-Median=3(Median-Mode)

The harmonic mean for the numbers 2,3,5 i

[a] 2.00 [b] 3.33

[c1290 [d] none of these

Which one is an absolute measure of dispersion?

[a] Range [b] Mean Deviation

[¢] Standard Devtion [d] All these measures

{fxand y are related by y = 2x+5 and the SD and AM of x are known 1o be §
and 10 respective ly. then the coe fficient of variation
[2] 25 [b] 30 [c] 40 [] 20
P(AnB) = 0, then the two events A and B are
[2] Mutually exclusive [b] Exhaustive
[c] Equally likely [d] Independent
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9

10.

18

12

13.

14,

15.

16.

ITI

18.

{fwoe events A and B are independeny, then
() They can be mutually exclusive

[11] They cannot be mutually exc husiye

] They cannot be exhaustive

co2
(dl poth (b) and (¢)
P (A= 5/9, then the odds againsy the event A &
3 bl 54 . e

i’;mlwmh _ e : hi 1d) 5 14 o2
[a) Bell-shaped [b] Usthaped com
¢ J-shaped (] Inverted J-shaped
If the mean of a Poisson variable X 5 1, What & P(X= takes the
5 . ¥ the value at leag Co3
[a] 0.456 (b] 0.82) [c] 0.632
The covariance between two varibles i (4] 0.254
[a] Strictly positive m‘mw“ co3
[c] Always 0 [d] Either positive o negative
If the relationship between two variables xand y in given by h+3:::: ”
then the value of the correlation coefficient between x and y & ., CO3
(a] O [b] 1 [e] -1 [d] negative
Index number for the base period is abways taken as
] 200 [b] 50 [e] 1 (4] 100 OO
Fisher’s ldeal Formula dose not satisfy test. Co4
[a] Unit Test [b] Circular Test
|¢] Time Reversal Test [d] none of the above
The index number is a special type of average |
[a] fakse [b] rue fe] both 1d] none o

is particularly suitablke for the construction of index numbers. o4
[a] HM. [b] AM [c] GM. [d] none of the above
3 1:15,31,? 127 COS
[a) 62 [b] 63 [c] 64 (d] 65
If GOLD is written as IQNF, how WIND can be written as code?
[a] YKPF [b] VHCM [c] XJOE IS ONIW
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e moving how?
R [b) West [¢] East I 8ot
Ly e the children of A. A s the father of X by y & not his sop,
X i? ehited 0 A?

|b] Brother [¢] Son
3 f [d] D
b f]ﬂsw Section - It s 3 :uh""
" ihm= 3
Answer ALL the Questions o COg) K-
g ¢ the daily wages in Rupees of 0 sample of 9 workers: $§, 62 4 Leve)
]
’ :,7& 52,60, 84, 75, Compute the mean wage, : Co| K2
- |OR]

o salary for o group of 40 femake workers is R

rjl The ok s 5, 200 per month ang
g e GO oo 5 5. 0500 per month. What s the oy g
' combined mean salary?
Im.] If the reltionship between xand y is given by 2x 4 3y = 19 and the range
of x s Rs. 15, what would be the range of y? o2 k2
[OR]
ob Whats the mean deviation about mean for the following numbers?
¢ 810,10, 129, S
) Whats the chance of picking a spade or an ace not of spade from a pack of 52 €03 K2
cards?
| IOR]

38 Acon i tossed thrice. What s the probability of getting 2 or more heads? €03
‘Hl]l For a random variable x, the probability density function is given by f(x) = CO4

gl
—ﬁ—ﬁl’-m{x <o

| ldentify the distribution and find its mean and variance.
| | [OR]

- .ﬂh} Between 9 and 10 AM, the average number of phone calls per minute coming €04 K2
B o the switch board of o company is 4. Find the probability that during one

r
| Patcubr minute, there will be no phone calks.
l

lh} IFPAINT is coded as 74128 and EXCEL is coded as 93596, then how would

Youencode ANCIENT?

58

cos K2

OR]




] ml b)

27.a)

b

28.a)

28.b)

& standing in the middle?
Section—C

Answer ALL the Questions
Following are the weights in kgs of 36 5g_A students of St.

WO T [T T TH TS

Xaver's College. COI K3

73

50 | 68 [ 45 [ 55 | 65 | ég
70

56 | 68 155

30 il Bl I B R B B
65| 70| 65] 62 | 69 B1I67T 601 50
Construct a frequency distribution of weights, taking ¢ s kength as 5.

[OR]

Compute the mean deviation about the arithmetic mean for the following data:  COJ K3

X : 1 3 5 i 9
T K 9 2 |
C K3
Prove that for the first n natural numbers, SD & ‘%;—'— 5
[OR]

A student computes the AM and SD for a set of 100 observations as 50 and §

respectively. Later on, she discovers that she has made a mistake in taking one

observation as 60 instead of 50. What would be the correct mean and SDif

i) The wrong observation is left ow?

ii) The wrong observation is replaced by the correct observation?

Find product moment corre lation coefficient from the following information: co3 K3

X3 2 3 5 5 6 [§]

y: 9 8 8 6 5 3
[OR]

For the variables x and y, the regression equations are given as: CO3 K3

Tx-3y—18=0and4x—y—-11=0

Find the arithmetic means of x and y

Identify the regression equation of y on x.

Compute the correlation coefTicient between x and y

Given the variance of x is 9, find the SD of y

Compute Fisher’s Ideal Index from the following data

co2 K3

4



Show how it satisTies the time and

I
1OR)
OWing data by

20b) Fita straight line treny 1o the fol

Least §
estimate the sale for (e vear 2012, A5t Square Method and  CO4 K3

o K
(in'000s) 114
- 30.a) Statement: All scientsts are hard working. bl 65 1
No scientists are superstitious,

Conclusions:
I. No scientists are superstitious,

11, All superstitious are not sCientists
a) if only 1 follows

b) if only conclusion 11 follows
¢) if either 1 or 11 follows
d) if neither 1 nor 11 follows
¢) if both I and 11 follows
[OR]
30b) Statement:  All cricketers are tall,
| Rajesh is tall.

Conclusions:1. Rajesh is a cricketer.

1L. Rajesh is not cricketer
a) ifonly I follows
b) if only conc lusion 11 follows
c) if either | or 11 follows
d) if neither 1 nor 11 follows
¢)if both I and 11 follows

CO5 K3
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SECTION. A (20 ¢ ¢ » 20 Murks)
Answer ALL Onestlang

Total rovrn snles divided by the ny

i Imber of rooms sld Topresens_______ Ij.
Rock rme
i 2 oo REpAnGY peroentage
. ¥ report
g A Avarnjgo daily rato
0 which departmay doen g COng| e
Hern repon? or Kl
L.Human resourcey LV vani o] i )
Front offiee
. Securit
y 1 Accnnnlinu
Hotels ndd n charge o alf | ng di W @ f
it R distwnce calln mde by the guest. This chirge in cal K2
1.20% 2.50%
1.3 A 40

Guest surveys consistently rank which of the follow

i an the number ane concemn in hinely7C0O1 K|
1. Must be close 1o shopping

2 Rouom by ready and availablo when
checking in

3.Late-night room servige A.Clennlinens

The rate where in the roon rent is not chirged iy cnlled

con K2
1.Complimentary rate 2.0ceupancy rte
J.Package rate 4.Rack rte
The plan where in the room tariff includes room rent and meals col K2
1.Meal plan 2 European plan
3.Continental plan 4. American plan
15 @ rate, which keeps fluctuating on the basis of the seasonol demand. €Oz Ki
| Rack rate 2.Room rate
3.Seasonal rate 4 Pockage rate
The tarifT includes room rent and all major meals is called_ CO2 K2
l.LAmerican plan 2 Continental plan
3.European plan 4. Modified American plan
A living room withoutabed iscalled coy K2
1.Parlour room 2 Penthouse



13

LN

15.

16,

17.

18.

Q. No.

4.Double room
_. _ g ) is called __Cm
b : K hisher visitors Is ca = K2
Room outside aa guest room where the guest maY o T
2 Interconnecting roo
iy 4.Quad room
3 Hospitality room ot 1)
factors in Tounsmare ___ '
oy 5 2.Prestigc
i 4 Escape
mhﬂlmkmmwwm" _
2.Coonoor
| Datiee!
ol 4 Matheran
I Mount Abu . o
mam.mmuwcmurm? Kl
| Paradi 2 Visakhapatnam
3 Ennore 4.Puri
- . Co4 .
“Minh:lﬂ'hmdtnl’pﬂmm’! Kl
1IXB 2.PBR
IXZ 4 PRT
msmnmmdumwmw Cos Ki
1.Thomas cook 2 Jeena and Co
3 Lee and Muirhead 4.Cox and kings
Which of the following is not a activity of travel agency? COs Kl

1. Ticketing
3. Insurance

A tour accompanicd by qualified , Trained and experienced tour managers or guides is called CO5 K2

1. Independent Tour
3 Escorted Tour
MICE stands for
1 Meeting Incentives Conferences
) ‘m
3 Mecting Incentives Conferences
Expenditure

2.Documentation
4. Planning

2.Incentivized Tour
4.Hosted Tour

2. Meeting Incentives Customer

Expositions

4.Money Incentives Conferences

Ex T

SECTION- B (5 * 6= 30 Marks)

CO(s) K-




28, (a)

(b)
Q. No.
5. (a)

(b)
127, (a)

(®)
128 (a)

(v)
L 2.(a)

(b)
30. (a)

(b)

SECTION.

Identify and classify Hote| and

Write in detail about Meal plan? Explain diffe

C (510 =50 Marky)
Answer ALL Questiong

lodging industry? Explain,

(OR]
rent meal plans offered by hotels.

Explain briefly the organization structure of housekeeping department.

Explain the need of linen and uniform room and the ergonomics in housekeeping.

|OR]

Explain in detail about moden tourism in India.

[OR|

Enumerate in detail about Transport tourism in India.

Explain the classification of tour operators.

Identify the process of Itinerary planning .

[OR|

amsEaREaRR ey

g 82 88

K1

(A

K4
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Section ~ A 20 x1 =20 K-
CO®G)

Answer ALL the Questions ; Level

Cest un sigle qui signifie ** Société | coz Kl

pationa ke des chemins de fer frangais ».
a) ANPE b) SNCF c) BNP d) CANOPE '

(est un instrument gu'on utilise pour ¢liquer sur un écran d'ordinateur. coz K2
a) Une souris b) Clavier ¢) Chat d) Ecran

Qui est Charles de gaulle : co2 K2
) le Président de ha République b) Pompier
¢) b, ke Premier ministre d) Police

Cest un sigl qui signifie " Tékvision Cinq frangais ». COl Kl
2) TVG b) TVS ¢) BNP d) CANOPE

Pelouse Interdite ....Enanglais coz2 K2

a) No parking b) No smoking
¢)Don't walk on the Lawn d) Wet Floor

Nommez un—JournalFrangais cO4 K2
a) Le monde b) C'est Chic ¢) Synchronie d) Mantra

Nom du jo urnal ou du magazine co2 K2
b) Le Figaro b) C’est Chic c) Synchronie  d) A volre service

Hebdomadaire Ca veut dire quoi ? i col Kl
a) Weekly b) Monthly ¢) Bi-Monthly d) Daily

Un Quotidien COl Kl
h) Weekly b) Monthly ¢) Bi-Monthly d) Daily

les petites annonces
a) Classifieds b) Case study ¢) cover story d) Obituary  CO2 K2



| ¢ Président de la République est élu pour

Cor g
a) 3 ans b) 7 ans ¢) 8 ans d) $ ans
Quelest ke nom officiel de s France? Cochez b bonne réponse Cos k»
a) IEtatfrangais b) ka République de France
¢) ke Royaume de France d) la R‘!P“h[iqltfmmniﬁcs
Les trois mots de la devise de b France -,............. = Egalite-Fratern it COd k3
a) Honneur b) Liberté ¢) Travail d) Solidarité
(Mest une pitisserie qui contient une féve” et qu'on mange au mois de janvier. co1 i
a) Le frasier b) I galette des rois
¢) Les Macarons d) LA TARTE TARTAN
Tant pis ! Ca veut dire quoi ? Cos K2
a) Shut up b) Hold your Tounge
¢) Mind your language d) never mind
Quiest Zinedine Zidane ' o2 Ki
a) Footbalkeur 'b) Pompier
¢) b. ke Premier ministre d) Police

llest né en 1972 4 Marseille dans k quartier populaire de ba Castellane, dans  CO4 K2
une famille d'origine algérienne

a) Zinedine Zidane b) Charles de Gaulle

<) Sarkozy d) N.Modi 1 :

Les cheveux - Ca veut dire quoi ? Co4 K2
a). Teeth b) hairs ¢) eyebrow d) mouth

Le Nez Ca veut dire quoi ? . ' cos K2
a) Teeth b) nose ~ ¢)eyebrow d) mouth

La bouche Ca veut dire quoi ? | cos Kz
a) Teeth bynose ©  c)eyebrow D pout

‘Section—-B Bx6=301 o4 1:;[
Answer ALL the Qlﬂﬁ“’ S 2

Continuez en donnant un conseil

Ex. : Ecris-moi ! o |

1. Je n'ai pas regu de lettre de toi (B&f‘l‘) .

Z Cette région est belke ... (visiteur) :

3. Ce sandwich n'est pas bon ... (manger) hiTAe

4. Nous voulons rester seuls ... (lisser)
5. Johan Is ans) Joue au bord de hrivih'nm mw




b)

[OR]

Supprimez larépétions, Utilisez un pronom. 4

co2 Kl

Ex. : Gilles ti une entreprise... .11 I dirige.

Jérdme parke de Gilles Deveau & Sylvie, ; - ;
1. Gilles a une entreprise de produits pharmaceutiques.

2. 1l dirige seul cette entreprise.

3.1 est trés sympathique. Nous aimons bien Gilles.

4. 11 acheté ton journal 11 it ton journal tous les jours.

5. 10 it tes articles, 11 n'est pas d'accord avec tol mais il trouve tes artic ks
amusants,

Metiez les verbes a 1'lmparfait, co2 Kl
Une, femme, de 60 ans, raconte, ses souvenirs.

1. Quand § (étre) enfant,

2. en aout, nous (aller) en vacances ~ b montagne.

3. A cette époque, nous (ne pas avoir) de voiture,
4. Nous (prendre) ke train,
5.Le vovage (durer) 8 heures.
; IOR]
Compktez { co2 Kl
I. Le frére de mon pére, ¢'est mon onc le. I
2. La mére de mon pére, c'est ...
3. Le fils de ma Soeur, cest ...
4. Les enfants de mon onc le, ce sont ...
5. La fille de ma fille, c'est ...
Mettez les verbes dla qui convient. % 7o Colr K3
Antoine Consult, unc voyante.
Antoine : Est-ce qu'un jour Ana’s m'(aimer) ~
La voyante :Oui, et vous (se marier). |
Antoine : Est-ce que nous (avoir) des enfants ?.
La voyanic : Oui, et ils (étre) beaux et intelligents.
Anioine : Est-ce que je (réussir) dans mon travail ?
La voyante : Oui, et vous (devenir) riche.
g |OR]



b) Continuez en utilisant le verbe entre parenthéses et kes expressions dy “hh"'
J ANE ... qUE B .
Ex. ;o 11 n'a gard que /es romans polic iers.
|. Pierre a vendu presque toute sa bibliothé que ...
{garder).
2, Marie déteste la viande ... (manger),
3. Alexandre a peur de prendre Favion ... (voyager),
4. Julictte n'alme pas beaucoup le ¢ inéma ... (aVer voir).
5. Frangois n'a pas beaucoup d'amis ... (voir - sortir avec).
i) Comparez d'aprésles indications, :
Ex. :Marie est plus petite que Pierre.,
I, Maric: 1,75 m « Pierre 1,80 m,
~ 2. Robe Dior : 400 € - Robe Chanel : 400 €.
). Ordinateur de Thomas; § kg - Ordinateur d'Hugo 4 kg,
4. Pars-Rouen: 125 km - Paris-Lyon: 460 km,
S Vol Pars-Rome: 2 h 05 - Vol Paris-Varsovie : 2 h 15.
[OR]

Camille demande conseil a ses amies. Laure est pour un départ au Mexique.
Celia est contre.,

]

EX. :a. Laure : Vas-y ! Celia :N'y va pas!
I. Est-ce que je vais au Mexique ?

2. Est-¢e que je reste longtemps au Mexique ?
3. Mais je dois abandonner mon travail leil

4. Je dois aussi penser'que jo n'aurai peut-étre pas de travail & Mexioo ...
5. Je dois réfléchir a tout ~a ..,

4)  Comment se sentent- ils? .

Ex. :a, Ilaml.ahtét:.ihgorac '
L. 112 trop fume. -
2. Elle est montéea3ooo m&m d'alitude. Elle em en m}m‘née
3. 11 8 trop mangé. . £,
9. Elle est alkea une fdte techno. !
N §| & coupé du bois toute la journde.

- (OR]

W ','5 L€

Co2

co2

CO4

K3



:.b}

Continuez en employant Ia forme « faire » + infinif. .

Ex. ;8. Je les fais entrer. Cos K
a. Les invites arrivent ils sonnent. Je _ (:-m,}. i )
b. A I fin du repas, Antoine nous “mmpm

o des histoires drojes, 1)
¢. Ma voiture ne marche pas bien. Je dois ... (reporter).

d. Alexandre n'a pas de bonnes notes & Técoke.Ses parents doivent
(travailler). ,

e. Votre chien a soif. 11 faut ... ! (boire),

‘

-

Section — ¢ Sx “.’l

Rencontre au jardin du Luxembourg. Imaginez un diabogue en llili X ~ Level
kes questions suivantes et ke pronom ey », o o2 Ki
. |OR] -

Un ami frangais vous demande : « Quels sont les cilqliwud'&ﬂn ' ilmhu
pays que je dois avoir ln?:l‘-‘liuune Hg-m,m choix' 001 ..
Décrivez-vous en dix lignes (pllyaiqn e;um ' ::-

.' j

ez une hnretm mhu#t&_%

-vd:umi(e)" L e v,
L L = -
: X a-)'- f’ 5
L o W ET *
el 2 3 ".-- 1:{}
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SECTI()N.AQQH.;;H.,.“) CO(s) K-
Answer ALL Questions Level
Mass Communication can have high reach through col Kl
| .One ~to are person 2.Medin entertainment
i Groups A Trade unions
Decoding” means L Col Ki
| Sender chooses 2.Sender replies
\ Receiver maintains silence 4 Receiver attaches meaning to
words and understands the
message,
Cross wise communication implies: col K2
| Superior 1o subordinate 2.Subordinate to superior
3 Between co-workers with 4. Between co-workers with
responsibilities of same responsibilities of same
department department
Chromatics in communication refers to : COol K2
| . Appearance 2.Geslures
3 Time 4. Aesthetic
What is the term *Jo take French leave® as per an idiom mean? co2 KI
| .An unexpected disaster 2.A friend only in good times.
3.A difficult job 4.To take leave uniformed
‘The sawers helps in : coz  KI
| Learning 2 Association
3 Solving 4.Look up meanings of new words
‘Reading comprehension * enables to: coz K2
| Test students writing skills 2.Test the abstract of writlen
information
3 Comprehend the understanding 4 Test students reading skills and
ability to recall

- 5 e
‘Precis” writing emphasizes on e gl




| Longer piece of work 2 Thoughts of original text

y propostion of writien sumimary 4 Interpretation of materials with
comiments

e artiche writing can be structured as

§ Onily formal 2.0nly semi-formal

L (ynly informal 4 Formal, semi-formal and informal

which are of the following is not always mentioned in the newspaper report?
| Tk 2 Heading
4 Authot

The {anguage used as an appropriste means for an article should be:

| {imoT 2Flow-charts
vocahulary and descriptive 4 Active voice
whom does scknowledgements indicate?

is1 of people in an organization 2 Mmerials
( ontents 4 Messages

aention line' in a formal letter comes :
w the salutation 1 Above the salitation
j paragraph of the letter 4.t does not appear
formal ketters indicates
tcript 2. Postal script
tal service 4 Peer script
c-mails represents
Mook card copy 2.Booking credit copy
heque copy 4. Blank carbon copy

Formal mails can be addressed 1o

Only people within the 2 People within and outside the
nizatyon U'lgﬂl'll.ﬂll-ﬂﬂ
ends 4 Helatives

ctier indicales

| Organizational information 2. Companics profile
Reflection on the applicants 4 Formal way of greeting the
knowledge of company employer

Ihe beginning of combination resume incorporates

Functional format 2. Information of employment
history
i Dates of employment history 4.0Only educational slation

“HBoard meetings are examples of ©
Organizational meetling 2 Operational meeting

1.Informal mesting 4 representation

co3

co3

€Ol

o4

co4

COs

Kl

Kl

K2

Kl

Ki

Kl

K1



spuates of mecting e tudes -

COs
 List of attendoes of an 2 Public
ocganization moeting
1 \Management members only 4. Share holders only
SECTION = B (5% 6 = 30 Marks) CO{s)
Angwer ALL Questions

Discuss the elements of communication Col
1OR)

Discuss the peed of collocations. col

\What are the approaches 1o retd & comprehension passage 7 co2
OR]

Where i Bloom's Taxonomy applied? o2
 ucidate the points 10 be remembered in article writing. ol
OR]

W hat do you understand by the term Bibliography? cm

W hat o vou mean by Tormal letter writing? Coa

3o vou wiite informal letters? State an example.

IOR|

yeaw o Tormat of e=mail writing CoOd

What is the importance of a functional resume? COs
IOR]

1+ What are the reasons for minutes? CO3

steps 1n writing meeting minutes.
SECTION - C (5* 10 = 50 Marks) COs)
Answer ALL Questions

sidate the clements of communication. Cal
[OR]

Distineuish between ol and written communication Ol

numerate the tvpes of network in communication co2
IOR]

iee that, sccording to his position in life, an extravagant man is admired or despised. ACO2
“cessful business man does nothing to increase his popularity by being careful with his

mooey. He is expected to display his success, 10 have a smart car, an expensive life, and 1o

be lavich with his hospitality. 1T be is not so, he is considered mean and his reputation in
Jiness may even suffer in consequence. The paradox remains that if he had not been

careful with his money in the first place he would never have achieved his present wealth,

Lmang the low income groups, a different set of values exists. The young clerk who makes

his wife a present of a new dress when he hadn't paid his house rent, is condemned as

extravagant. Carefulness with money to the point of meanness is applauded as a virtue
bt thing in his life 1s considered more “ul’ﬂl}' thean pﬂ)ln!‘. his hills The ideal wife for such
a man separates her housekeeping money into joyless little piles- so much for rent, for food.

for the children's shoes she is able to face the milkman with equanimity and never knows the

Kl
Kl

Kl
K2

K2

K-
Level



guilt of buying Something she can't realty afford. At for myself, f fat into neithet of these
categories I[Ihawmmyhsm.lmbemmum_‘hmrh Y
am hard up. then | am the meanest man imaginable, ' 5z

{ In the opinkon of the writer, n tuccessfil businessman

a)ls more popular if he appears to be being nothing
byyShould not bother about his popuarity

c1Must be extravagant before achieving success
(1e expected 10 have expensive fastes

2 The phrase “lavish with his hospitality’ signifies
aniserliness in dealing with his friends
h)Considernteness in spending on guests and 51

¢ Extravagance in entertaining guesty
diIndifference in treating his friends and relatives
1 The word *parodox” means

a)Statement based on facts

b That which brings out the inner meaning

¢/ That which is contrary to received opinion
distatement hased on the popular opinion

4 How does the housewife. described by the writer, feel e
alls content to be so thrifty when SAVES Money”?

b)Wishes life were less burdensome,

oils sull troubled by a sense of guilt,

dyWishes she could sometimes be extravagant.

§ As far as money 1S concerned, we get the impression that the writer
als incapable of saving anything

bils never inclined (o be extravagam

¢1Would like to be considered extravagant

diDoesn’t often have any money to save,

0 Which of the following would be the most suitable title for the passage”?
a)Extravagance leads to poverty.

biMiserly habits of the poor

¢IEatravagance in the life of the rich and the poor.

d)Extravagance is always condemnable.

Rescarch has shown that the human mind can process words at the rate of about 500 per  CO3
minute, whereas a speaker speaks at the rate of about 150 words a minute. The difference
between the two at 350 is quite large. So a speaker must make every effort to tetain the
attention of the audience and the listener should also be careful not 1o let his mind wander.
Guood commurcation calls for good listening skills. A good speaker must necessarily be a
good listener. Listening starts with hearing but goes beyond. Hearing in other words is
necessary. but is not a sufficient condition for listening starts with involves hearing with
attention. Listening is a process that calls for concentration. While listening, one should also
be observant. In other words, listening has to do with the ears, as well as with the eves and
the mind. Listening 15 to be understood as the total process that involve hearing with
attention. being observant and making interpretations. Good communication is essentially an
interactive process. It calls for participation and involvement. It is quite often a dialogue
rather than a monologue. It is necessary to make it abundantly clear that one is interested in
knowing what the other person has to say. Good listening is an ant that can be cultivated. It
relates 1o skills that can be developed. A good listener knows the art of getting much more
than what the speaker is trying to convey. He knows how 1o prompt, persuade but not 1o cut
off or interrupt what the other person has to say. At times the speaker may or may not be
coherent. articulate and well-organised in his thoughts and expressions. He may have it in



physichl barriers genemily relate to mt |
mlwuﬂmﬂﬁmll_ﬂllthﬁ erpre
sl the message. :
Answer: ; =
wles i
| Research .
i Human mind processes S00 wpm

wySpeaker speaks 130 wpm

DI, bet. Words processed by human mind & speaker

1 4 good spenket / Good communator /Histener.

M ust retin wttention of nudienve

wistop not 1o het mind winder

¢iMhist be good listonet _

L Listening Requirement of Listening / listening skills

a1l learing with attention

hiBeing ohservan ¥
cilnterprebers. ¥ ?",
JConcentration "
cilMarticipation

£ Good Listener / Good Listening < An Art/ Traits of Good Listening

A1Ciets much more from speaker

ik pows how 1o prompt and persinde

¢ iPuts speaker al oase

diHelps him articulnte

ciFacilitates speaker to convey thoughts

o | flective listening’ Barriers To Good Listening

atRarriers-phy./psychological

wiPhvsical-hindrance to hearing : :
c1Psv. — interpretations & evaluation L

IOR]
A maoe fire broke out in a shoe factory in outer Delhi's Mangopuri on Monday morning. €03 K3 .
Ihe fire brigade took more than nine hours 1o douse the blnze. No injuries were reported in
the incident
weeording to Delhi Fire service chiel Al Garg, o call was received at 1034 am. stating
that o magor fire had broke out in a shoe factory in Mangolpuri Industrial Area. “After the i
a1l was made. 2% fire tenders were pressed into service in several rounds through the day. ‘
The blaze was finally doused around 7:30 p.m.” he said, adding that the cooling off
operation took a couple of more hours.
The police said they are yet to ascertain the cause of the blaze."No injuries were reported
were reported in the incident, As soon as the fire broke out, all workers ran out,"said a senior
police officer

Write an order lettet for placing an order for kitchen equipment.

Co4 K3

IOR]
Write 3 Promotional letter for opening a new branch. Cod K3
Write a chrondogical resume for applying for a jole in a concem. cos K3

|OR]



SF:{TII)N ~Af20+ .

20 Marks) €O
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World environmenig| day is celebrageq O —a
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L.March WOMTi& 15

2. April UM 18
IMny Qup &
Lunetr® gir 5
is the Baseuiy Envelope of the | arth,

. STET LI b U S iy LT . coy K1
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1. Stwdyung Uy 2. Environmental &DDIF &P
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The occurrence of a spcéics in a small area and nowhere else in the world is called Coz2 K
o0 filw usBula WLOHID 2_Fe) Caum aiigb g QargSer
Flspay 6TE0T U SOPESELLUEBDng
LEndemismeresorQ L1 &b 2Isolatismgeaflenin
3 Rarcismai| S meoreurg b 4-Atomism 2 @6 L
Among plants, constitute the largest number of species in the world, coz k2
STUTMRSETED, - 2 B Caew 385 arend&amnauamer
Qeriser 2 ererer. ;
1 AlgaeLn ) 2 Bryophytes @y Guwimenu Gasen
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h, Apple and Orangei 15
¢ DDID 2 7Eh5
4.Cane, Beet and Molasses

S®WDL wHDib I
Guomeu ey ¢
: o2 K2
@uwilefier R Domha Qumuu@ﬁ}mmn
1iChinchons trecB it Qer ey 1y 2.Black pepper sl
wiib
3. Garlie el 6807 (i) -I.Sugurmncﬂilmlhu
Which of the followip

g kinetic ehergy

; s : i? tonverted jnig clectriey| energy? col Kl
FSraumLd o1 g cﬂu.mlm D6 1) ey FEB g, MDD LGS g
1. Tidal energy -ﬂlfm'm ﬂ[D[DN 2. Wing CeTRY BTN (hp ey
3Mydro cnerny By s ipe Al of these@ emey
B 6 s g iy
Which of the follow ing produces nergy because ol temperutyre difference m various leyl Co3 K2
hm? *lEveis
sLebey umcmpl lenevmerflc, Qeutiugleney Cagiung Bolugrd
diereu@esareum ey ergy BLDmeney B Baundemmng,
3Solar encryy @B #4:5) 4.0cean thermyl
Wguﬁﬁ:ﬁm Qeuliy
LSl
Which of the following is the odg one oul? Co3 ki
USlereu@eucmeuh e OTBILC L emey ergyr
LPetroleum@uUL CymeBluwg 2 Hydro clectricity 7
Wletre rmiyin
3.Coallov s g f] LONGE rar g,
Which method is used to produce electricity in hydroelectric power plamt? o3 k2
B7 der Pevev g S ey gumdas ST Wenm
uuﬁu@ﬁﬁﬂu@ﬁlmﬁl?
1By boiling the water to produde 2.By running
seamBrrel swindss dynamo g coor coefen iy
sanatay Qsriss Swaflwnasn
DULLGET epeuin Q&g er anevih
3.By jonizing water® wid & 4-Any of the above@Lo@ey 2_aiten
SOOI 6 Lar@iomeney JCHEUD
QusG g eweud
Identify the environmental problem caused by Computer Industry Co4 K
seflaf| gienmuwne JHU@ILD & (D DIF G 6y VIg&Remearenw
SILWmenih & memoreyih
1.By ot providing jobs 1o 2By modem technologies like
ofgieemae ICT.block chainsgs &) 1q,
Geuaney OU P 11 85 11 5 55 G Slenmé: smRel s
LAV Cunedrm
msﬂmruamﬂéaml.‘_urﬁmamnd:



Which one of the rmuq.h, is the
(LT Jr g prime factor

D&M Symrer smem) ldrumeiarai
1.8ail CroslonLn e , j s
oo Sifliiy 2 FloodsQeudamy .
3.Dumping of Industrial ‘ .
e Bgiany vt B8
: 42l gationLimer e, LT
sllasamar @ e
| Wey STLG\5 6 [Iﬂmlsmﬁu
\ N UGS g6
15. ;;B'l{'c mag ':KJ'“ I":nn\'nhlc L‘ﬂtrg! u“!.'.. iﬂ 1“‘."] cm K:
wrebled gy s .
&ﬂiﬂ_nﬂmmmuﬂmﬂmm VRS WwaRw afleas) Uwetunen, g
1.Coallevds &) 2 Mkl
: QUL QUL s
J.le.s.nu? Bupmms 4 Nuclear, 2y gy
QUM & & e
17 :mzk: :::mu: of India 2011, literacy rute of females i compared to males  COS
ﬁ:}ﬁm m&sﬁmﬁqma SNEQ&E LTy, Querseafier
smsﬂmuﬂeu_ HBH1b oy etioraen_gir Ul beung REL. Qg
82.14% suih.
1.65.46% 2.66.12%
367% 47321%
18. Who first used the term gender? Cos K2
| umslarin ereirm UNTEMSOW Wl UWaru@SBwes wrge
| Robert 2 Sigmund Freud
SwllerT UG Lev@Lmeurj Fléswan  Oymic
, 3 Karl Jung&mijsbggni 4Judith Butlerg® g S U quiy
R 19, Gender identity is usually formed by age of J cos K2
| unn&umm;mnml‘uciunﬂmnm awBdae anrps.
; L Fivem gl 2Sinap o
| 3. Threeqair gy 4 Fourpnerg

isdcﬁnndmnpmuulmimufmudfmmﬂcur&mkm mrely, CO5  KI
.___—_-__
bﬂthnrmilhu'}.
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TELnH

SECTION - 18(5 * 6 = 30 Marks)
Answer ALL Questions

Explain the Global Warming. o1 Kl
uell QauliLiomeueng; ub efleurldmey b,

10R)
What s mean by Acid rgin? Cio Kl
Siufleunenyp 1T 6 evedren s
Write 0 short note on Food Chaln, co2 K2
B@ay FmBebl L) Sy STUpmIm

1OR)
Explain the abiotic components of an Feo syt

em, co2 K2
& DDIEFS 06 S ey LR 7T & yeool| memern oblerra i
Explain briefly abou Renewable enengy resources., o3 K2
UBIuSia e o i o o ifl o) e memen Y L) HpEs O, cllamd g m

10R]

Summarize the advamages angd disadvantage of wing conservation system coy k2
SMHmrene Ungimmiy S0 LI 6br (5 6 et o s iy WOb Benwmenar
EMEHONES bl g,

4. (a) Compare Rencwable ENETRY resources and Nop — Renwnﬂeﬂmy Tesources, Cos K2
UaILléss 568 & &8 euar g e

ST Ygliés Lwng
Suhme SUET & emaT 2ud@Gs

|OR|
(b) What is Envitonmenal pollution? State jis cuuses, COs K2
&DDIEF S0 WM& ereirmmey STEBT6OT! 3| & et LA T 25 o L5
(a) What are the sleps we can

take 1o end Gender inequality?

05 K2
umﬂnuwﬁﬂmuﬂﬁrmmmmupmém&ﬁamﬁr@mmmhﬂmknﬁmmmms_mm'sﬂnasn't
eTemenr?

IOR]
(b} Write down three Ways (o liberate the LGBTQ+ in your country, Cos K2
L ASETHT g6 LGBTQ + g SR ellss WD eyl menar TP@E.
. No. SECTION . C (5+ 10 = 59 Marks) COs) K-
Auswer ALL Questions Level
6. () Explain the componems of Environment co1  Ki
SHOMF &pellcr o DiBEIT LD dend s .
IOR)
(b)  Explain Global wnrrnlngmdﬂmn:hyudeplﬂhn. Col K
yehl CRituwe g6 WOHDID GEF e EOE Bopey SRwaubhen
o gs

Explain the energy (low inan coosystem,



ﬁ;owmim of wild life. [oR)
6l N Eﬁﬂﬂﬁf u"ﬂlﬂiﬂ'[]
: U oflerg g, 02 K2
i PRIDIUM resource. oil shoe and ta 5
Rl chrreﬂu.lmm. nﬂhmmu,, Cag _--Iml..w.
upa eflens @ D W0mmg B e, A co1 K2
Weuhemm
Discuss the lmm"'.h of Coal mining apg h~.n:11i|r'lil".)n|
B s O St rdlu g g
elens B 5. L T Ube Coi K2
Hiustrate thelenvironmental laws i Indin (¢
£ ¢ 5 } profect |
u_.mli‘ﬂﬂ.l & I3 ' N¥irog,
Eggcﬁlmda@mmm hetch HITIE 1 5 1y ﬁr!":;#%hﬂm 5 o+ K2
L'L'F!J!E‘H1EIT
Enumerate the different types of natyry| rmlum‘:ﬂl
URCAD) QIS @whHeans, CUTTR e Ly . o w2
Exp]niﬂ the following terms, swﬁﬁ@a
1. Gender identity 008 .
2. Gender roles K2
3. Gender discrimination
4, Gender inequality
S SIS wopsmen o gs
1. umebleor SienLwimaTid
2 umeller LNSH 7 &eir
3. umelleor LTGUME
4. umedlerr & EieuLS aremin
IOR]
Write down three of the examples of gender inequality and gender discrimination you come €05 K2

across in your daily life.
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